Answers

for Grade 7 Group Assignments - Quarter #4

Notes for Parents:

e Answers for group assignment problems that are out of the workbook can be found

in the “G7 Workbook Answer Key”.

e ltis probably best not to give this document to the students, as it might spoil it for them.

e This answer key doesn’t include all answers.

Week 25
Individual Work
e Answers for Seventh Grade Math Tricks — Sheet #4.

1) 6.3 7) 3900 13) 9900 19) 1200000 25)
2) 385 8) 9.6 14) 3 20) 0.947 26)
3)  0.0055 9) 28 15) 66.4 21) 770 27)
4) 12208 10) 6.9 16) 620 22) 2491 28)
5 9 11) 11988 17) 2860 23) 1600 29)
6) 725 12) “zorl3 18) 2.965 24) 70 30)
for Tuesday.

e Answers for Seventh Grade Math Tricks — Sheet #3.

1) 40 7) 59994 13) 4.8 19) 924 25)
2) 2475 8) %or0.6 14) 1800 20) 11449 26)
3) 594 9) 2600 15) 490 21) 55 27)
4) 10815 10) 2496 16) 3021 22) 19 28)
5 1.6 11) 1100 17) 50 23) 0.026 29)
6) 46 12) 5625 18) 340 24) 1188 30)

o A Different Scale Puzzle. Five weights, weighing 1, 2, 4, 8, 16 pounds
possible whole number from 1 to 31.

for Thursday. 1) 28 2) 73 3) 386

2916 31)
9021 32)
69993 33)
0.6 34)
1600 35)
0.021 36)
Isor 0.7  31)
160 32)
0.62 33)
9996 34)
2025 35)
615 36)

276
10712
884
3.6

38
9025

120
$30.90
1080

8

2809
4.3

. This allows for each



Week 26
Individual Work

Answer for Seventh Grade Math Tricks — Sheet #5.

1) 0.000039 7) 4899 13) 16 19) 140 25) 1800 31) 0.45
2) 10815 8) 350 14) 990 20) 1216 26) 6900 32) 1200
3) 10816 9) 51 15) 900 21) 56000 27) 29400 33) 280000
4) 612 10) 0.75 16) 275 22) 21 28) 270400 34) 7209
5) 48 11) 39996 17) 800 23) 3996 29) 1260 35) 1034
6) 1287 12) 0.6 18) 60 24) 5 30) 0.6388 36) 722500
e Many Grandchildren. My oldest child and youngest child are 25 years apart. My oldest child
had his/her first child at 25 years old. So | had my first child at 21 years old. | am 41 years older
than my second youngest child, who had his/her first child at 25, and second child at 28 — which is
when | was 69. Since this grandchild is now 15, | must be 84 years old now. My youngest
grandchild is 4 years old.
e Cutting a Chessboard. 2>>2>2>2>2>>>>>>2>>>>>
Weeks #27
for Tuesday.
Dominoes: 1) 28 2) 15 3 and 4) There are many possible solutions
for Thursday.

The Locker Puzzle: The key to this problem is that a locker changes for each

factor of its assigned number (e.g., locker #15 changes on 1,3,5,15). The real question becomes:
which numbers have an odd number of factors? The answer to this is that in order to have an odd
number of factors, a number must be a perfect square. Therefore, only the lockers with numbers
that are perfect squares will be left open, namely: 1, 4, 9, 16, 25, 36, 49, 64, 81, 100, 121, 144,
169, 196, 225, 256, 289.

Weeks 28, 30, 31  No answers needed

Weeks #29 1) 49,77,91 2) Christine is 59, and Karen is 33.

Week 32

1) 11.86 mph

2) 12.48 mph and 11 mph

3) 26.35 mph and 19 min, 21 sec
4) Time: °/s Speed: &9

5) 13,193 rotations both days

6) 3,167 7) 45,236



